25 30 2 REY 2 7 da 25 8
kAl

ILord
2
r&

-

i

_

Ay 1 0] W

i

ol 2 30 WFAEY 271 3L, 258 Y

gGton=z
old =2 283 245 L Wro] Eojyr.
(30-2) I} (25 - 1) o] Tk,
= 287249 FFp=1, 2, 4 AU
1 F 27 = A2 4 gy

U 19]




32 9440 & o 42 LHrel 3 GUth F 48 B Uy

SH BE ApA%e] G2 P4
> oo

> He: 15

ol olAA

~&B

32 O] Ok~ 1 1, 2, 4, 8, 16, 32
40 O] ¢F3= 1 1, 2, 4, 5, 8, 10,20, 40
32240 3k :1,2,4,8

UrolEolAA St ofH = 1,2,4,8°|EE
1+2+4+8=15YYrh




ZF27} 72em, AIZ7F 48 em Q1 AAFZEE meFol A& He F
l$_

o =
glol 14 2 AAY mepo Egto] threm
7o) ARz o] sl A& U

> E =

AA12g mope] GEAE W 2Rl 7MY

a

729} 48 9] A F4E 2 X 2 X2 X 3 = 249]
FA S g §9] dol= 24 em YU T

ZF2 172+ 24 = 3(F)

A2 48 + 24 = 2(%)

mrebx] GARZE G Y] A= 3x 2 = 6() 4yt

=
Eol Umad 729 48 9] A3 k& ol H

e




7Y27F 96m , A =7} 64m Q1 ZALZHS RoFo] ot
7P 2 AAME BeFol Wo 2 e gy

slot gzt

> E.

> FEeHD 32m

=

B

HAr2r 0] @ Wl o]
2) 96 64




